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First Year Higher Secondary Improvement Examination

Part - II1
COMPUTER APPLICATION (HUMANITIES)

Maximum : 60 Scores
Time : 2 Hours

Cool off time ; 15 Minutes

/ General Instructions to Candidates -

-

® There i1s a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.

® You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.

® Use the "cool off time' to get familiar with questions and to plan your answers.

® Read the questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® (ive equations wherever necessary.

® FElectronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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1. Identify the unit that manages
and coordinates the functioning

of different units of a computer.

a) ALU
b) Control Unit
¢) Input Unit

d) Output Unit

2. The scheme of representation for
characters of written languages

of the World.
a) ASCII

b) EBCDIC

¢) UNICODE
d) ISCII

3. Select the odd one out. State the
reason.
a) MAR
b) RAM
¢) Flash Memory Card
d) CD

4. Write the function to display the
total of marks of the students in
cell F8 for 6 subjects entered in

cells F2 to F7.
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5. Compare Hub with Switch. (1) | 5. ooey, mfla) palew ®ocmaye
' 021, (1)
6. DNS stands for ............ (1) | 6. Ul agd. e agamoad .................. (1)
7. Find the correct match for 7. e&og0 A @6 @RMIEWORIMOWAI
Column A from Columns B and a080 B wfled afiemye e@sog0 C wiad
(o3 | 2) clomyo @seney alllee)s. @)
A B (63
a) | System Software Packages Scanner
migRe emoadgeaiwd 0GB MiBHomd
b) Input Device H1gh level language Laser Printer
Mals Haldssmo 090 OaIId eoem|ed ceimd @b
Dots per inch Compiler
BT el ememl hoonaleid
8. Ramesh want to insert the poem 8. moooemew’.wav oM el @
Naranathu Bhrandan saved as SoalysAld qupeallaligies MoooemET
naranathu.wav to a slide in his ©om®  agm HalOew ®ed
presentation. What are the @aoesm eamwid odeqisemod
steps? (2) 08005 @emuBGTIeseMs BodREEID
agemgIo? )
9. Define the freedom which TK 9. myom emoasgoad
given'to user that make up a free 9aleedemosnies meleim allafw
software. (2) MUOBOTYEBRD  ag)OOMEJO0 (2)
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10.

11.

12.

13.

14.

Joseph opens the photo of
Maradona in GIMP. But it
appears to be too dark. He wants
to make it bright. How can he
achieve that?

OR

Explain any two artistic filters

in GIMP.

How does Fuzzy select tool differ
from By Color select tool in

GIMP?

Yusuf wants to lock the columns
A, B, C and make it immovable
in his worksheet employee. How

can he do this?

Explain any two charts in

spread sheet software.

a) ............ 1s the smallest unit of
worksheet in spread sheet.
b) Explain any two statistical

functions in worksheet.
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15.

16.

17.

18.

19.

Describe any two features of

wireless broadband connectivity.

Sheela wants to study a degree
course by E-learning system.
Explain any two tools available

for E-learning.

E-business has many benefits. At
the same time there are some

challenges too. Justify.

Computer networks have many
common threats. Describe any

three.

Apart from the ox_;d_ina_ry number
system we use, there are other
number systems. Explain any

two. '
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20.

The following worksheet
contains the details of some
salesmen and their sales. Write

the formulae to calculate :

20.

moey Hoemlal adesadgiad alle
smaldmaocdaones  alldem
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a) Total sales in any one quarter QUOdRY0 G)FIbs.
b) Total sales of any one a) ageommlelle 80) &»jodgolenss
salesman @oe® alldiam
b) ogem®lele er) amaldminoad
¢) Commission for any one bR
salesman (10% of sales
3) c) ageo®Elele 8o} emeidbminomy
Bmouny) piElean6Ns OB a0
(afi@ajmees 10%) (3)
il & i B Hons ) dE i e B
1 |Sales Man Code Quarterl Quarter3 {Total Sales [Commission
2 {51001
3 [5%002
4 [s1003
5 |TOTAL ﬁ
21. Anitha wants to buy a flat panel 21. @erl® &) abdgog alomad saoeamigd

22,

monitor. What are the different
types of flat panel monitors?

Explain any two.

a) What is a Slide Master in a
presentation software?

b) Suggest any two

transforming tools in GIMP

with its features.
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23.

24,

25.

26.

What is the need for creating
layers in GIMP? Briefly explain
any two operations on layers in
GIMP software.

Observe the following URL.
http://www.dhsekerala.gov.in/
index.html

Explain the different parts in
the above URL.

"E-waste management is very
important for the existence of
future generations". Justify the
above statement.

Substantiate your answer with

relevant facts.
OR
Categorize the following devices
and explain the usage.
(QR Code Reader, Biometric

Flat Bed Plotter,
3D Printer, Digital Camera)

sensor,

The nodes in a computer
network can be inter connected
in different ways. Identify the
name given to the way of
connecfing these nodes. Explain
any four of them with suitable

block diagrams.
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First Year Higher Secondary Improvement Examination
Part - 111

- COMPUTER APPLICATION (COMMERCE)

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

/ General Instructions to Candjdates : \
® There is a 'Cool off time' of 15 minutes in addition to the writing time
of 2 hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your
answers.

" ® Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Caleulations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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Which one of the following is
considered as brain of the

computer?

a) Central Processing Unit
b) Control ﬁnit

c) Arithmetic Logic Unit

d) Monitor

Which one of the following CPU
register holds address of next
instruction to be executed by the

processor?

a) Accumulator

b) Instruction Register (IR)
¢) Memory Address Register

d) Program Counter (PC)

Which one of the following is

NOT a part of program

documentation?

a) Writing comments in the
source code

b) Detecting and correcting
errors

c) Prepar.ation of system

manual

d) Preparation of user manual

KR-62
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apaies eadewlalenimaiaad

doaljigolon a0 o o @m0

al@dlmenaficlenima agalameosn?
a) Central Processing Unit

b) Control Unit

c) Arithmetic Logic Unit

d) Monitor

ajaies goldomldleam age CPU

register-@d @pem processor

@S @ @O Q] 6oleg s
mldegromlef address
8] o 16l eermay.

a) Accumulator
b) Instruction Register (IR)
¢) Memory Address Register

d) Program Counter (PC)

8(aID(V0 BALOBNODEPaY-6XF @0

@RI afy@?

a) Source code @ afllcueemen®

af)LamN@
b) eoge® eemenm oloomme
¢) System manual egoooeed

d) User manual omgoooead

solbemlalesymalwlad
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Which one of the following is
- NOT a character constant in

a) o

b) a

¢) '8

d) '\a'l i

Given that x =5 and y = 5. What

will _he_ the value of the

expressionx >y || y>x?

Which one of the following is

NOT a valid C++ statement?

a) x =x + 10;
b) x + = 10;
c) x + 10 = x;

d) x =10 + x;

Write output of the following
C++ program.
#include<iostream>
using namespace std;
int main ()
{
int a, b, ¢;
a=5bi=1;
c=2; :
if (a+bsc)
coutl_,' <<"\n RED";
else if (a+b<c)
cout <<"\n GREEN"; -
else :
cout <<"\n BLUE";

@

(1)

(1)

o

apaies eaidowidesmaeica C++
ee: character constant mgjooma

ag®?

a) lal

¢) 8"
d) '\a'
5 agmie ¥y = 5 agamjo
®aTigIens. 2 QIS 6105 OGO

x>y |l y>% _

x =

opaues eadedldenmaunid ol
@ogoam C++ eqgondd ago?

a) x = x + 10; '

b) x + = 10;

¢) x + 10 = x;

d) x =10 + x;

21J0I6S &&os;m‘lﬁfm;m‘ C++

program o output agRe.

#include<iostream>
using namespace std;
int main ()

{

int a, b, ¢;
a=b=1;
c = 2;
if (a+b>c)
cout <<"\n RED";
else if (a+b<c) .
cout <<"\n GREEN" ;
else
cout <<"\n BLUE";
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10.

11.

In communication system the
terfn, source refers to ..........

a) re_c‘e.iverJ |

b) sender

¢) information

d) medium

If all devices are connected to a

central hubl_sﬁii;eh, the topology

15 known as ...........
a) ring topology
b) bus topology
¢) star topology
d) mesh topology

Which one of the following is

NOT a web browser?

a) Mozilla Firefox

b) Google

¢) Internet Explorer

d). Opera

Which one of the following

statement is NOT true about

e-mail?

a) E-maill i"S‘ environment
friendly as it do not use

paper.

KR-G?
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9.

10.

11.

Communication system - owld
souree agm aiso ojalgfweyma
agaemwos?

~a) receiver

b) sender

c) information

~d) medium

agp afleeainyesle sy central
- hub/switch emos’ aimiufla laligiens
@ @ topology @adlwegism

Gald ag)mm?

a) ring topology
b) bus topology

c) star ."I;‘o.-';}a;alqu-
d) mesh topology

‘browser @ogEMA oga?

a) Mozilla Firefox
b) Google

¢) Internet Explorer
d) Opera

mgmeus caidovidlesnm e-mail em

Mosnuciuflay (almimonimeglad mmyo

a) Galqd
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12.

b) E-mail provides provision to

attach text, audio, video and

graphics.

¢) E-mail will not spread any

kind of viruses.
d) E-mail can be used to send
same message to many

recepients simultaneously.

Which one of the following is

NOT an e-business website?

&) www.amazon.com

13.

b) www.dhsekerala.gov.in
¢) www.keralartc.com

d) www .i?tc.com

Convert the hexadecimal

 (A2D),, into its octal equivalent.

14.

1 _5:9

List e-waste disposal method.

Identify and classify the

different tokens in the following

C++ statements.

age = 18;

KR-62
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15.

-~ d)

b) Text, audio, video, graphics
agmial @glesidem@aEnMnel
mjes mealiwome -eawellenns.

c) o-ecwfefllaes waalmamg

®OEWI0I88 eaﬁmm;@g&o

als®omy nﬂéieag&@ﬂg,l

m-enwfleflejes 880 MEMmUe 630

moWo emawldo

Ml BBEMOSOBES EORHOHI]

-

MmoeI.

agales  cademldleaymaeid
e-business eaien OeME EREOOEME
Q@

a) Www.amazon.com

b) www.dhsekerala.gov.in

¢) www.keralartc.com

d) www.irtc.com

(A-‘ZD)IS' agm hexadecimal

moaew @emeyedw  octal

MVCELYWOLET BOGIMs.

e-waste

DODREVBAD ag) 3T

B amodBRMEwIM 88

anaes eddsyewicienym C++
(MW @IAUMEIDE  ESISOMEB0S
@l GlenT @Ol apEE®} BOETd
RAISMOOEMAT ag)F i@

age = 18;
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16.

17.

18.

19.

What is the difference between
%x=5and x==51in C1+?

OR
Wrile
following C++ expressions.

a) 60 % 25
b)-22.11%

value returned by

Write output of the following

. C++ program.

#include <iostream.h>
using namespace std;
int main ( ) |

{

int a = 10;

cout <<"\n a = "<<atd;
cout <<"\n a ="<<++a;

}

Rewrite the following C++

statement using if ... else.

cout <<

(n%2==0?"EVEN" : "0DD") ;

List any four advantages of

forming computer networks.

KR-62
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17.

18.

19,

G+ -a x=5 agymmo x==5 agrmmye
@anenss AY@IOMo ag)ao?

@6 gjs:la
ajoles  caldamloleaim  C++
)& Wnlaumisd  @aym  afle
0G)FEDebs.
a) 60 % 25
b) 22/ 7

ajaies  cardamlalesym C++
program-e output ug)t;g,@g,&.
#include <iostream.h>

using namespace std;

int main ( )

{

int a=10;

cout <<"\n a = "<<a++;

cout <<"\n a ="<<++a;

}

ajjaues  caldemlclesym C++
statement, if ..... else palsocaf
alHBOD ag)wimiss.

cout <<

(n%2==02"EVEN": "ODD" ) ;

dhoaliSd wiosUeled maflasdleanym
YOS  ae®EL1Rz0  Mmoef’

(JERORMEBWD  ag)Pim)d:.
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20.

21.

22.

2'30

24.

Data processing refers to the
activities performed on data to
generate information. List the

stages of data processing.

Draw any six flow chart symbols
and specify their standardized

meaning.

Write an algorithm to print first
100 natural numbers.

OR
Explain the different types of
errors that ma;y occur in a

program.

Explain logical operators in C++.

Comments in a program are

ignored 'by the compiler. Then
why should we include
comments? Write the methods
of writing comments in a C++

program.

KR-62
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23.

24.

Data «lad alomye information
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ymodalle @d@Oo
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C++ oa logical operator
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25.

26.

27.

28.

29.

Define the following terms,

related to eomputer network.
a) Node
b) Bandwidth

¢) Noise

List bad effects if any in using

social media.

Define e-Governance. Write any

four advantages of e-Governance.

What do you mean by utility
software? List any four types of

utility software with their use.

Explain the elements of a loop

statement with suitable

example.
OR

Write a C++ program to print

first 10 even natural numbers.

(3)

(3)

(3)

(5)

(5)

(5)

25,

26.

27.

28.

29.

dhoalygh ajosei@@mOnSl enIMbeqs
anes caldemiRlenm aleaBd
il fles)ds.

a) Node_

b) Bandwidth

¢) Noise

Social media gaiswoulenymallcd
af)emes]eljo (el P¥alalfz e ld
SOEmEEITh @O ag)Iw:.
e-Governance ag)e D’
midgaflene. oalef apaeslejo

moel (aICROBMEMGD ag)Pymids.

Utility software agommee:06re
MleB@R agomoem GRAMOBILEME?
a@emeslego moe’ utility software
_Q(@

SaIEWINEAMINSIG0- ) F1D s, <

0151 @RLWOS

@RMEWORINOW HEIaNMEMo Marfl@o
e} loop statement-ed} elements

alldle.alens.
T DTN

@oaye@m 10 peg agem@ moaw:d
) saigumalmies eay C++
Program agyimdh.
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September 2016

First Year Higher Secondary Improvement Examination
Part - I1I
MATHEMATICS (COMMERCE)

Maximum : 80 Scores

Time : 22 Hours
Cool off time : 15 Minutes
/General Instructions to Candidates : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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)7 AWEM B2IIBIETBREE HEMAO ag)AMIEMD, ARBRNICMON) AR
alldflo®o MsSE®MOEMD aldsigl.
® HEMHEEBMR af) LM MM BaIdREIBM YyELOA DL (OWIEsEMo.
Qf)BI0 GoIOBIEIBBEN0 HAMAO ag)LImEMo. '
® &0) GolOBYMMID HEMOODP®OM HMOOETNSIOM) HYIeTMOWR Sal

@210B)6IBRI0 @RE® €2locy MMIAIE mlam @HIM HMOOETMSELEESMIEM.
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b)

b)

KR-53

A B 1B Lo

i) A -B iil) B-A
1) AUB iv) ANB
Let U=41,2,3,.......10}

A={1,2,5}, B={6,7}. Find B’
and ANB'

In a class of 100 students, 55

students have passed in

Mathematics and 67 students

have passed in Physics. Then

find :

1) The number of students
who have passed in
Mathematics and Physies:.

ii) The.number of students
who have passed in
Physics only.

If A, B and C are any three
sets, then Ax(BUC)is equal
R e

) (AUB)x(AUC)
ii) (ANB)x(ANC)
iii) (AxB)U(AxC)
iv) (AxB)N(AxC)

If A is the set of even natural
numbers less than 8 and B is

the set of prime numbers less
than 7, then find A x B.

Sketch the graph of the

function f:R— R defined by
f(x)=|x|. Write its domain

and range.

(1)

(2)

(2)

(2)

(1)

(2)

(3)

1.

a) AN B' a@M® .occcovervsrone -

i) A —B
1) AUB

1) B-A
iv) ANB

b) U={1,23,......10}

A={1,2,5}, B={6,7} @ o}
B, ANB' o0 @06m)ks.

c) 100 @gle:dd oas 8} gomid 55
)5l SHemealmie 67 Gald
adlmilesmimie seilay.

1) adlmlamimie @emeslmyo
Sl agmeald 2oflay,
_ii) anlaul@savlmy rﬁotmc af)L®

)5led eaflall.

a) A, B, C eoal mymy equgiesaosm.
Ax(BUC) ® oypymo ......

i) (AUB)x(AUC)
ii) (ANB)x(ANC)
iii) (AxB)U(AxC)
iv) (AxB)N(AxC)
b) 8 @ oW VAT MoaYB:RIOS
omg A @ T-0 @000w

@REIE) (Moalimaies amg B @i
@owomd A X B £:06mss.

¢) f:R->R
f(x)=||

(008 Modaf Ooigys. f(x) o
SAINHDM, GO DO ah)PI®)d:.

@& omenflte

ag)(m  anoEB ad 6@

(2)

453
(1)
i;

(2)

(2)

N

(1) y

(2)

(3)
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3. a)lIf Sr,irm:-::l and Cgsz;zﬁ, 3. a) Sinx—i 8o .Cos;-x:'-_"fé*. fors
2 9 . 2 2
then x lies In ........... oW x el e.21QuM@Y ... ....
i) first quadrant : i) &mmoo dnoun
ii) second quadrant i1) oeneoo @olwdd
i) third quadrant 45 o
iv) fourth quadrant 1) iv) (oeioo @olau (1)
b) Show that
Tan 3x—Tan2x —Tanx
=TanxTan2x Tan 3x : (3)

~OR

b) Tan3x-Tan2x-Tanx
=TanxTan2xTan3x ogmy
BloBIWIE: LS (3)

mg;_ﬁ'lm%

a) If Sm.ac=§ and Tan-x=g,_ = 3 : 9
el 2 a) Sinx=— go Tanx=_ 9o
then C0S X i8 .......... 4 2
_ EOWOM COS X 1.ovvveeienn
Dr i) o | i 8
78 : 27 g b S i el
o7 15 ' g i
Bl S @ 27

4 iii) - g )

b) If Tanx==-§, then find the b) T A,

b WO
value of ‘-‘-‘5"-’-‘-’*" ﬂj-b.Cosx ; (3) aSinx + bCosx .
' ‘aSinx —bCosx : 2 Sinx = bCasx -em

aflel

06, (3)

4. By using the principle of 4. (WIdg)id @oad” moamaoHlendd
Mathematical induction show e DS astd Salewou] of
that 7" -3", neN is divisible 7" _3" neN -om ' DA bad

by 4. ' ’ (_5) mletvayo a0lend0 agym
OR - gl ag)e:, 6)

Show that RO
2 o2 L2 -n(in +.1)'(2.n+1) lafi@milgfldd @oad” oocmaoglend
1°42°+......4n = 3 6 : f N A& o B ale@owal

15 By +n3__=n(n+_1)(2n+1)

by using the principle of
mathematical induction.

6

agMm O®EIQAENH:.
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5. a) Multiplicative inverse of

1 -

s T8 iveansvass
i)ty i) 1+
S G iAES
LT W

b) Express —1- in polar form.
1+1

6. Solve the system of linear
inequalities using graphical
method. '

x+y<hH
2x+y<8
x>0

¥y=0

1) n i) 0
ii) 1 111) not defined

b) Find the number of four digit
numbers that can be formed

out of the digits 3, 4, 5, 6, 7, 8
if no digit is repeated.

c) In an examination a student
has to answer four questions
out of six. Questions one and
two are however,
compulsary. Find the
number of ways in which the
student can make the choice.

OR

a) If n and r are two positive
integers such that n>r, then

KR-53

(1)

(4)

(4)

(1)

(2)

(2)

(1)

453
i
a) 117 @9 wemm aflaidi®o .......

ey e
- . 1 - ! 1
iii) 77 iv) 7.7 (1)

b) —l— oW Galog0d ©yaloa
1+i

0g)P3@yckn. (4)

20I6S OB:ISIEWITILHIM @OIVA®
SR (H0al Balewoudla] aidavonemo
021,
x+y<h
2x+y<8
x=0 J
¥y=0 (4) *

1) n 1) 0
i) 1 ) cfidaunfesnadidle; (1)

b) 3,4,5 6,7 8 ag)il EOBHEIEGD
9aleWowlg’ @0 B6) 673 (B
ERDUBOB£000® af)® 4 GREs
MoB)M HENBOHEV0? (2)

¢) 60 cdlesald o) alepdddes
6 ealogimeld 4 calaEmRes
2OMOALIMEMo. af)Mo@d 1 oo 2
80 6210a)eB@Es) (ildsnmwasw)io
DAMAODYI®EMo. afBldd @D
aflayod@ales’ age dlaled
C2IIBIMBRD HMOOETMSIBHI0? (2)

@6 ey ad

a) n>r epeemsesalwo n, r soal

@6 aiyden olBRIWO. ..

) M i) - Re




b) A committee of three persons
is to be constituted from a
group of two men and three
women. How many ways this
be done so that the
committee would consists of
one man and two women?

¢) Find the number of ways of
arranging six players to
throw the cricket ball so that
a particular player may not
throw first.

8. Consider the expansion of

[2'._ e T"
3 by

a) The middle term in the
expansion is ......... |
i) 9® term
i) 10 term
iii) 11" term
iv) 12% term

b) Find the middle term in the

expansion.

9. Consider the  sequence

a) Find the common ratio of the
above G.P. Also find the
n® term.

b) Find the sum of the first 10
terms of the above given
sequence.

OR
KR-53

(2)

(2)

1)

3)

@)

(2)

453
b) 2 anoeudoodad ofmye 3 aiiell-
&gt olomie 3 ealosemym &y
Smlgl  olallealensme. &)
alj®jaimio 2 mi(@flsgle HHR—
aS}M OHEMOOTILNER of®

@anlledd e flodleance? (2)
c) 6 sgleesenn (@leog e6UIR
ag)Sloymaimowe (@alledlaflel-
80y}, DOER 8O (aIC®IH
HElHH00M @By  eMNIOWD
agolaymmlg o=l o1 6
Sgle0000 afle  doloid

(@alle@lee00? . (2)

2 BTE _

[Ex _2_1:] ag)am ag)dsmijalaxte

allayeflensme ai@lwemesnie.

a) anrm'lm’lmgfm. )& T (alau e
Aflasellsoemomlad mw;a_l_amomﬂ

1) 9-%0 ai@o

i1) 10-20 al@o

ii1) 11-%0 aiBo

iv').12--a'o' alBo o
b) ayeglad @l @lsHm
ag)&Milalato@  aflaselleoem
@U@ awialemoe] Qe alGo
soomye. Ak

a) oaridesym G.P. wes eanoy
UIEMebo BHOEM)ds. SO N-Oo
alBo BN dh. (2)
b) ajmgldd @mialsniom moauyo
cuemieies @aa) 10 aicases
@) dhDETN)db. (2)
@neg)s:lod

Turn Over




b)

10. 3)

b)

11. a)

KR-53

OR

7 term of an A.P. is 40. Find

the sum of the first 13 terms.

Find the sum to infinity of

Equation of X— axis is .........

1) x=0 i) y=0

ii)x+y=0 ivVx+y=1

Consider the points A (1, 2)
and B (2, 3).

i) Find the slope of the line
AB. Find the equation of
the line CD which is
parallel to AB and

passing through (5, 4).
i1) Find the distance
between AB and CD.

The centre of the circle
(m—4)2+(y+5)2=25 et
i) (4, 5)
1i1) (4, — 5)

i1) (—4, 5)
iv) (—4,-5)

Find the foci, eccentricity

and length of latus rectum of

p 2

the ellipse 20y
259

(2)

(2)

(1)

(2)

(2)

(1)

(3)

10.

1 23

a)

b)

b)

a)

b)

@6 g md

aoy A.P. @es 7-00 ai@e 40
@OWOM @YEY 13 aIGaBaINS ®)d:

BH06M)hs.
g R S |

E, 2_2, 2—3, Og)m-
8l aHOM eadlmlg

alEEE8IS M)dh HO6Midh.

X-anosoom  aiallafleaim

MBI ...
1) x=0 i) y=0
u)x+y=0 wx+y=1

A (1, 2), B (2, 3) agmdl enfloz-

AOWD a6 HeEs.

1) AB wies eqoal £06myd.
soalewowlal’ AB o8
masdmoalo (5, 4) agmm
mllaallenes @&som) Galod)—
mapaow CD agem cosuw)
S MUBOUOBHO B06M)s.

1) AB, CD agmil eoeud®d

@elej88 @R:Llo d:06MIds.

ag)om
m;,mmmmﬂmf@ B0 ooecneene -

i) (4, 5)

11i) (4, — 5)

(x—4)2+(y+5)_2 =25

7 (4 5)
iV) (_ 4: T 5)

2 2

x Y

—4— =1 m agelaimie
T ag)m og) Q@
BaN0HN VMR, ag)dmdSlavldl,
210 B0 GETI O MR mlgo

EDCLIEHOEM}ES.

453

(2)

(2)

(1)

(2)

(2)

(1)

(3)




12. &)

Name the octant in which the
point (4, — 2, -5) lie.

i)

ii) 5% octant

3 octant

111) 7 octant

iv) 8% octant (1)
b) Find the distance between
- the points (2, -1, 3) and
2,1, 3). (2)
13. a) Match the following. (3)
A B
X Lim ¢ o
i) | ., g(x+3) 1) 1
. Lim Sinx -
....| Lim Sinax . b
W x508mbe | V| o
a
4) g
b) Find the derivative of
Sinx.Cosx 2)
14. a) Write the negation of the
 statement, '\/7 is rational'. (1)
b) Consider the statement, 'If a
number is divisible by 9, then
it is divisible by 3"
Write the component
AR statements, converse and
: contrapositive of the given
statement. (3)

KR-53

12. a)

453
4, — 2, —5) ag)m Immm a@{ﬁ'
ﬁﬁnﬁ‘@&laﬂﬁ gl am%{m@"
@mv IO},

1) 3-00 asQf
ii) 5-00 8@
111) 7-00 aL{@
1v) 8-00 8&gaE (1)
b) (2, -1, 8), (-2, 1, 3) agod
milaysnid oonleles @oa:eo
06, { 2
13. a) coimpaldl coIdeee:. (3)
A | B
D | Bmaas) | n| 1
N Lim Sinz
l_l) X—=>0 «x 2) 6 R
| i Sinae b
) zsoSimbx | V| 3
: 0
4) B
b) Sinx.Cosx -e¢ ewoleaiglal
£0BM) 5. (2)
14. a) @anldlesym aIm@oumEes
AMENa®D  ageIEe. 'Af7 is
rational'. (1)
b) 'If a number is divisible by 9 '
then it is divisible by 3' agyem
lImocum  al@lmem]He)ds.
emMITlenym (alM®IUMQOS
SHETUOMM  EURIODRPIEMD,
@0 easgmy, @06 (S0
salomiiglal agorial agieyes.  (3)
Turn Over




15. Consider the following data
36, 72, 46, 42, 60, 45, 53, 46,
51, 49
a) Find the median of the given
data. (2)
b) Find the mean deviation
-about median for the given

15. ayaies esosyemlclenim ewg
al@lnamlea)ds.
36, 72, 46, 42, 60, 45, 53, 46,
51, 49. '

a) eaildenm cwgues dauload
BOBM)Bs.
b) @mislenym ewges ol

dati (2) aslaflewauad Nl
rsrmrrﬁuem_onesﬂ 061N ).

16. Find the mean and standard 16. apaies emidleaym aslmisieniyes
deviation of the following -o dldd, guodeaday aflafleaasud
distribution. - (4) EDQU B06M)s.

Class 30—40| 40-50| 50—60 | 60—70 | 70—80 | 80—-90 | 90— 100
Frequency 3 7 12 15 8 3 2
17. a) An unbiased die is thrown, 17. a) medmaa’ eol5es 8o}
th;:? the probablglty of poWw agolwEmIoD 80y HOS
getting an even number is .... sy P P
1 1
o 8 = sltosruenllefgl ........... .
2 3 1 1
i) v) ) LA
111} Ny =
4 6 24 e |
. i) 7 iv) 6
b) If P(A)=§, then find g
b) P(A)== @owodd P(AY)
P(A"). (2) 3 .
B06Ms
¢) If E and F are events such 3 1
1 ! o P(E)-1,  P(F)=3,
that P(E):Z, P(F)=§ 4 2
1
P(Eand F)=— Qi
and P(EandF)=> . Find ( =% =
B eoHemenallwo ©6e M-
P(EorF) and @a06m E @ F 9o agyeslad :
P(not Eand not F) (4) P(EorF), P(not Eand not F)

EDQU, D:06MYeD:.

KR-53
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(2)

(2)

(4)

(1)

(2)

(4)
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